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SCHOOL OF BUSINESS AND ECONOMICS

DEPARTMENT OF COMMERCE

END OF SEMESTER EXAMINATION
SEMESTER: AUGUST 2011

CODE: ACC311A 



UNIT: INTERMEDIATE ACCOUNTING I ___________________________________________________________________________

Time: 2hour 30Minutes
Instructions

Answer all the questions

Question One

a) Traditionally, accounts have been presented using the historical cost conventions: assets are recorded at their cost less any amounts written off, that is, depreciation. However, the accounting theory has suggested three other different types of costs that can be used to value assets. Discuss them






(9 Marks)
b) Accounting theory is a set of hypothetical conceptual and pragmatic principles forming the general frame of reference for a field of inquiry. Discuss the theoretical approach to the formulation of accounting theory





(12 Marks)
c) In 1973, the Accounting Standards were developed by the International Accounting Standard Committee (IASC) due to various reasons. Explain the reasons for the establishment of the IASC 






(4 Marks)

Question Two:

The following information has been extracted from the books of Quire Public listed company as at 30th September 2011








Ksh’000

Kshs’000

Bank overdraft







2,400

Called up share capital (Ordinary shares at Kshs1)



4,000

Deferred taxation







   200

Delivery expenses




2,800

Non Current asset: at cost



3,500



     Accumulated depreciation




1,100

Debentures held




  100

Debenture interest (net)






    40

Interest payable




  400








$’000


$’000

Interim dividends paid



     60

Office expenses




3,000

Other creditors







  180

Other debtors





   160

Profit and loss account as at 1st October 2010)



  820

Purchases and sales




12,000

         19,000

Stock as at 1st October 2010



     500

Trade creditors







  100

Trade debtors





  5,320                   ________







27,840

         27,840

The following additional information is to be taken into account:

a) Stocks as at 30th September 2011 was valued at Kshs400,000

b) At 30th September 2011, Kshs130,000 was outstanding for office expenses, and Kshs50,000 had been paid in advance for delivery van licenses

c) Depreciation at a rate of 50 per cent is to be charged on the historic cost of the tangible non current asset using the reducing balance method: it is to be apportioned as follows:
%


Cost of sales

60


Distribution

30


Administration
10

d) The following rate is used for taxation: corporate tax 35%. However, the corporation tax payable based on the profits for the year ended 30th September 2011 has been estimated at Kshs80,000.

e) A transfer of Kshs60,000 is to be made from the deferred taxation account.

f) The directors propose to pay a final ordinary dividend of 3cents per share.

Required: Prepare the following financial statements in accordance to related accounting standards for published accounts (IAS1). 

i) Quire plc’s income statement for the year ended 30th September 2011


ii) Statement of financial position as at 30th September 2011 (using vertical presentation)










(25 Marks)












Question Three
The balance sheets and additional information relating to PennyLane Limited are given below. 






Pennylane Ltd





Statement of financial position as at 31st December









2003


2004









Kshs’000

Kshs’000

Non Current Assets:

Tangible assets





400


   325

Intangible assets





230


   180

Investments






-


     25









630


   530

Current assets:

Stocks







120


  104

Debtors






400


  295

90-day deposit






  50

                -

Cash in hand






  10



     4










580

             403

Creditors: amounts falling due within one year:

$’000

     $’000


Trade credits






122

       108

Bank overdraft





188

       185

Taxation






120

       110









430

       403

Net current assets





150
                      0 
Total assets less current liabilities



780

     530

Creditors: amounts falling due after one year:


Long term loan





(100)

         -

Provision for liabilities and charges: deferred taxation
(80)

    (60)









600

     470
Capital and reserves

Share capital ($1 ordinary shares)



200

    150

Share premium account




160

    150

Revaluation reserve





100

      90

Profit and loss account




140

      80

Total share capital and reserves



600

     470

Additional information:

a) During the year interest of Kshs75,000 was paid, and interest of Kshs25,000 was received

b) The following information relates to tangible assets as at 31st December
:

2003

2004

Kshs’000
Kshs’000




Costs



740

615




Accumulated depreciation
(340)

(290)




Carrying value


400

325
c) The proceeds of the sale of non current asset investment were Kshs30,000.

d) Plant, with an original cost of Kshs90,000 and a carrying value ofKshs50,000, was sold for Kshs37,000.

e) Tax paid to the inland revenue during 2003 amounted to Kshs110,000

f) Dividends of Kshs80,000 were paid during 2003.

Required:

Prepare a statement of cash flow for PennyLane Ltd for the year ended 31st December 2003 under IAS 7 using the indirect method.


















(25 Marks)
Question four:

a) Taylor started a construction of a building on 1st November 2010 and completed on 31 March 2011. The incurred costs were as follows:

   Shs.

Purchase of land




400,000

Land survey





    4,200

Building permits




    4,500

Materials for construction
  

         1,000,000

Wages and salaries




50,000

Insurance cost for one year 



  2,000

General overheads




20,000

Rentals from the building



50,000

Fees for title of the land



  3,500

Additional information given:

1. Cost of construction involves Shs 100,000 which included damaged materials and also Shs 100,000, which was incurred as a result of engineer’s wrong design.

2. Taylor received 8% trade discount on the cost of land

3. Rentals are received on 12 April 2011

4. Taylor on 1st of November 2010 took a loan from equity bank to finance the building. The loan was Shs 3million with an interest of 10% per annum to be repaid in 5 years.

Required:

Calculate the cost of the building at which Taylor should recognize in the books of accounts











(10 Marks)

b) A business is facing legal proceedings, which may result in a potential liability. At the time of producing the financial statements no realistic estimate were made of the possible amount of any damages. How would the IAS 37 on provisions be applied in this case in the year of reporting financial statements?




(5 Marks)
c) Write short notes on good characteristics of financial information in financial statements










(10Marks)

